MATH 3310 HOMEWORK ASSIGNMENT 2

DUE ON FRIDAY 1 FEBRUARY 2019

(1) Consider the sets
U={zeR||z—-2] <5},
V={zeR||z+1] <3}, and
W={zeR||z| >2}.

Use the interval notation to express the following sets:

(2) For every real number z set
Ay ={2?}, By=(-o00,z), and C,=[z—1,2+1].

For X ={1,3,5,7} determine each of the following sets.

(&) Neex Az and U, e x Az
(b) Nyex Be and U, x B
(©) Npex Ca and Uyex Co-

(3) Determine the set A, in each of the following collections:
(a) {An}nen =1[0,1],0,2], 0, 3], ... }.
(b) {An}nen = {[1,3),[1, 2+ ) 1,2+ 3),...}.
(¢) {An}nen ={(~3,3),(=3,6),(=5,9),...}-

(4) Consider the set A = {a,b,c,d,e, f,g}. For each of the following collections
of subsets of A decide if it is a partition of A, and if it is not explain why?
( ) {{a,e},{bm,d,ﬁg}}.

() {{ }.{a,e, f},{b,c.d.g}}.

(c) {{a,g,0},{e, f},{b,c,d}}.

(d) {{a,b},{c.d},{f,g}}

(e) {{a,e},{b,d},{f g.c}}.

(f) {A{a,b,c,de, f,g}}.

(5) Consider the set A = {a,b,c,d,e, f,g,h,i,j,k} and give an example of a
partition S of A that satisfies
e |S|=5.
o |[X|#3forall X €8.
e There is a subset 7 of S with |7] =4 and |Uxer X| =9.



